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Info & Data

The Report

You are required to produce a portfolio of work that demonstrates that you can work to a high standard in the area of data collection and interrogation.

The work for BIS Assignment 6 has provided you with an opportunity to do this. You will need to demonstrate that you can do the following

1. Work on a collected data set of more than 50 records.

2. Interpret that data and produce results that allow a problem to be solved.  (remember your problem was to provide a suitable room for 10 people to work in)
3. The interpreted data to be shown in a series of suitable graphs.( you produced cumulative frequency graphs to determine the minimum and maximum volumes required for the staff.)
4. As a result of your findings you need to produce a series of plans and diagrams which support your recommendation on the size of room to produce.

a. You need to draft a room containing 10 desks.

b. Produce, to scale, a plan showing the arrangement of the 10 desks with suitable walk space around them

i. Measure a typical work desk.

ii. Walk space between desks needs to be 2m.

iii. Remember to allow space for a door.

c. As a result of all these measurements draw to scale your recommended room.

d. Make sure you mark on the measurements.

e. What is the scale for the plan

f. Most importantly; say what the area of the room will be

5. Now produce a simple 3D scale drawing (a cube) of this room and calculate its volume.

a. Remember the height needs to be at least 3m high.

6. Using the following complex calculation below, determine that the volume of the room is the same as or greater than the 11m3 that the Government has stipulated.

a. In other words, perform the calculation one way and then rework it back to prove your calculations are sound. 

7. Lastly, produce a professional summary of the whole exercise, including the work for Assignment 6, which states how your recommendations were reached.

11 ≥    Room Height x (Room Area – Table Area)
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